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Chapter : Number System

(1) What least number must be subtracted from 210,
so that the sum is completely divisible by 117
ag TATH HEAT o 8, o 210 H § € St I
oTee AR 11 & 9 o faenfara g smefr?
SCCGL-22AUG-S2 : 51
(c) 4
(d) 1

(2) The sum of a non-zero number and 9 times its
reciprocal is 10. What is the number?
Teh IR-YrT HEAT IR 38 G shATodTcll o 9 T[T
1T 10 &1 AT 96 F&AT 4T 57
SCCGL-22AUG-S2 : 63
(@ 10 (b) 11 (©9

(d) 90

(3) What least value which should be added to 1812
to make it divisible by 7, 11 and 14?
1812 H BIE § BICT ag HieT AT HEIT SATST AT, dATfh T
7, 11 9T 14 @ qUId: fas1ioTe gY Sire?
SCCGL-08AUG-S2 : 51
(@) 12 (b) 36 ()72

(d) 154

(4) Which one is the largest among the fractions
[5/113], [7/120], [13/145] and [17/160]?

[5/113], [7/120], [13/145] YT [17/160] H & FaH &7
et AlT AT E?
SCCGL-08AUG-S3 : 51
(@) 5/113

(c) 13/145

(b) 7/120
(d) 17/160

(5) How many numbers are there from 2000 to 7000
which are both perfect squares and perfect cubes?

2000 & 7000 ek UHY fohcfalt FEATT & it quT aat o qof
g g1t 87
SCCGL-10AUG-S1 : 51
(@ o (b) 1 (c) 2
(d 3

(6) What is the remainder when 2468 is divided by 377
SIS 2468 I 37 SaRT AT foham STl &, A 3rafrse
FATEIAT &7
SCCGL-21AUG-S3 : 51
(a) 26 (b) 36 (c) 18

(d) 14

(7) Sum of twice a fraction and its reciprocal is 17/6.
What is the fraction?
T et o Q19T AR 38 SYcshal T 1T 17/6 §1 T8
AT FATE?
SCCGL-21AUG-S3 : 63
(a) 4/3 (b) 5/4 (©) %

(d) 4/5

(8) If the square of sum of three positive consecutive
natural numbers exceeds the sum of their squares by
292, then what is the largest of the three numbers?

I e AT T ST ek HEAT3T & AYer 7 et
3T AEITHT & ot F IR H 292 3w &, A AT H A
T 931 HE&IT i AT g?
SCCGL-11AUG-S3 : 51
@5 (b) 6 © 7

d) 8

(9) How many numbers are there between 1 to 200
which are divisible by 3 but not by 77?
1 & 200 & g VT fohcte GEATe §, 5 3 & af fasnfaa
g & aifehet 7 @ 7 1E1?
SCCGL-10AUG-S2 : 51
(a) 38 (b) 45 (c) 57

(d) 66

(10) By which least number should 5000 be divided so
that it becomes a perfect square?

5000 &Y fora SIS A o) dear @ fJsnfaa fhar s
fora@ ag ve ot aef & Sre?
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SCCGL-10AUG-S3 : 51
(a) 2 (b) 5 (c) 10
(d) 25

(11) How many numbers are there from 300 to 700
which are divisible by 2, 3 and 77?
300 & 700 e VY el AV § ST 2, 3qAT 7 8
o g &2
SCCGL-12AUG-S3 : 51
(© 9
(d) 10

(12) Select the correct option:Convert binary
1101111 to decimal.
e fashed giAw: STSaRr 1101111 HY S H S|
SCCGL-17AUG-S1 : 51
(@ 111 (b) 101 () 110

(d) 100

(13) The sum of a fraction and 7 times its reciprocal is
11/2. What is the fraction?
Teh et 3R 3Tk cgcshal & 7 IO T T 11/2 | T6
et FAT?
SCCGL-17AUG-S1: 63
(@) 7/2 (b) 2/7 (C) %

(d) 4/3

(14) How many numbers are there from 700 to 950
(including both) which are neither divisible by 3 nor
by 77
700 & 950 (111 ol fAeTeRT) ddh UT fahcteit Ty § i
FA3ATE 78 fenfaa g g?
SCCGL-09AUG-S2 : 51
(a) 107 (b) 141 (c) 144

(d) 145

(15) A fraction becomes 6/5 when 5 is added to its
numerator and becomes 1/2 when 4 is added to its
denominator. What will be the value of the fraction?

T oot & 3127 & 5 NS T I8 6/5 B ST & JUT 385
R H 4S5 A g 1/2 & ST ¢ | 39 st o AT 77
grem?
SCCGL-11AUG-S1 : 51
(a) 8/9 (b) 7/10 () 7/8

(d) 6/11

(16) Rs 60500 is divided among A, B and C such that A
receives 2/9 as much as B and C together and B
receives 3/7 of as much as A and C together. What is
the share of C (in Rs)?

60500 & &I A, B TT C & 38 YehR dleT ST & foh A &r
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$TT3T B AT C & ol $ITT T 2/9 B, TUT B T 39T A TAT C
o el 79T T 3/7 B | C T 81197 (% ) Fohctett 82
SCCGL-11AUG-S1 : 55

(a) 29850 (b) 30120
(c) 31350 (d) 37250

(17) By what least number should 1200 be multiplied
so that it becomes a perfect square?

1200?%@&@mmﬁﬂvﬂmwagw
qUT &9 e ST
SCCGL-11AUG-S2 : 51
(5
(d) 13

(18) What is the average of first 93 natural numbers?
TYH 93 Tepfceh HEAT3T T 3T fohefell 87
SCCGL-11AUG-S2 : 56
(a) 45 (b) 46 (c) 47

(d) 49

(19) If 56M4 is completely divisible by 11, then what is
the value of M?

IfE 56M4, 11 & quTa: fasnfor g &, af M &1 A1t a/m
8?
SCCGL-12AUG-S1 : 51
@2~0 (b) 1 ©3
(d)5

(20) Which of the following can't be the unit's digit of
a perfect square?
fFafafld # @ wier a1 qot & o1 gerS 37 8 8r
T 87
SCCGL-12AUG-S2 : 51
(a) 4 (b) 6 (€8

(d)9

(21) How many times the keys of a typewriter have to
be pressed in order to write numbers from 121 to
13467
121 & 1346 deh T TEATT @ & AT T 8IS
& JaAT &l Fohdell S ST SITUaTT?
SCCGL-09AUG-S3 : 51
(a) 3675 (b) 4018 (c) 4021

(d) 4025

(22) Product of three consecutive odd numbers is
1287. What is the largest of the three numbers?
et AT fawa @3t &1 33 1287 g1 it

FEATIHT A A G T HGAT Bl 87
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SCCGL-16AUG-S1 : 51
(@9 (b) 11 (c) 13
(d) 17

(23) For what value of X, 211X will be a perfect
square?
X & ford #ATeT & foIT 211X Teh quT @1 gram?
SCCGL-16AUG-S2 : 51
()6
(d)9

(24) The sum of a number and 4 times its reciprocal is
5. What is the number?
T HEAT 336G qYAHA & 4 TN H AT 58| T
TG FHATE?
SCCGL-17AUG-S2 : 63
(a)4 (b) 5 ()6

(d)7

(25) What least number must be added to 4131, so
that the sum is completely divisible by 197
4131 # it € FAGATH HGAT I ST ST AMGT, ATk
T RN 19 § T e A fasnfaiagr
SCCGL-17AUG-S3 : 51
(@ 10 (b) 11 (©9

(d) 12

(26) A fraction is greater than its reciprocal by
(72)/(77). What is the fraction?
Teh TR 3791 GGAhA | (72)/(77) & 31T § | T8 eie
HATE?
SCCGL-17AUG-S3 : 63
(@ 7/11 (b) 11/7 (c)4/7

(d) 7/4

(27) What is the remainder when 6729 is divided by
352
IS 6729 & 35 gaRT fasTfad fovam Sirar 8, a« afive

AT EIe &7

SCCGL-18AUG-S1: 51

(a) 11 (b) 7 (©9
(d) 13

(28) Sum of four times a fraction and 6 times its
reciprocal is 11. What is the fraction?
T ATt & TR A0 3R 38 AT & agcishel & 6 0T
T AT 11 | I8 AT par g?
SCCGL-18AUG-S1:63
(a) % (b) 4/3 (c) 4/7

(d)7/4
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(29) What is the largest 4 digit number that is exactly
divisible by 93?
[ T TGAT S 93 W QA e A fasnfaid g &,
&7
SCCGL-18AUG-S2 : 51
(a) 9961 (b) 9971 (c) 9981

(d) 9951

(30) What will be the quotient when 2143 is divided
by 38?
ST 2143 T 38 & faenfora foram STTe, d et et 1 AT
e gia?
SCCGL-18AUG-S3 : 51
(@) 56 (b) 55 (c) 57

(d) 54

(31) Sum of twice a fraction and 3 times its reciprocal
is 29/3. What is the fraction?
Teh feTet o &F IO 3R 39 feTet o agcishel o 3 0T T
9T 29/3 B aE eIt AT 87
SCCGL-19AUG-S1: 63
(@) 2/9 (b) 5/4 (c) 4/5

(d) 9/2

(32) Select the correct option:
Convert decimal 101 to binary .
FE R o

HH 101 T AMSRT H FGof |
SCCGL-19AUG-S2 : 51
(a) 1101001

(c) 1101011

(b) 1100111
(d) 1100101

(33) What least number must be subtracted from
3401, so that the sum is completely divisible by 11?
3401 & @ el N FGATH HGAT HETS STl AMGT, ATfh
g Ui 11 @ quid: faermsa gr?
SCCGL-19AUG-S3 : 51
(@3 (b) 1 (02

o

(34) What least number must be added to 213, so that
the sum is completely divisible by 9?
Tg AIATH HGAT HieT-H g, ol 213 7 518 ST |
T 19T 9 | I ¥ Faeferet g1 Sem?
SCCGL-20AUG-S1 : 51
(@3 (b) 2 (€)1

(d)4
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(35) What least number must be added to 329, so that
the sum is completely divisible by 77
329 # aleT E FAeATH HEAT T SNST SATAT AT, ATfeh
TfRr 7 & qote: fasrs 87|
SCCGL-21AUG-S1: 51
(@1 (b) 0 (@2

(d)3

(36) Select the correct option:
Convert decimal 99 to binary.
7 R afAe:

TAAT 99 Y TS H T |
SCCGL-21AUG-S2 : 51
(@) 1100101

(c) 11100011

(b) 1101001
(d) 1100011

(37) What is the largest 4 digit number which is
exactly divisible by 81?
g et AT 4 37ehT T 951 A TS HGAT &, ST 81 W U e
o faafora gy 872
SCCGL-22AUG-S1 : 51
(a) 9993 (b) 9936 (c) 9918

(d) 9963

(38) If A's wealth is 4/9 times of B's and C's is 7/6
times of B's, what is the ratio of C's wealth to A's?
3R A ST a1 B o UeT § 4/9 I[T 3R C T =T B & 7/6
AT R, A C & YT T A o €T § &7 31T o7
SCCGL-22AUG-S3 : 55
(a) 8:21 (b) 21:8 (c) 27:14

(d) 14:27

(39) Select the correct option:

Convert binary 10110 to decimal.

7 Ao g

TSI 10110 T GRAHT H Fcol|

SCCGL-23AUG-S1 : 51

(a) 22 (b) 20 (c) 18
(d) 16

(40) What is the quotient when 1359 is divided by 48?
9Tcd gYeT aTelT dg HIThol 3T &, ST 1359 T 48
fasnfara fmar sirar 82
SCCGL-23AUG-S2 : 51
(a) 29 (b) 30 (c) 31

(d) 28

(41) What number should be added to each of the
numbers 35, 115, 53 and 165, so that the resulting
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numbers are in continued proportion?
35, 115, 53 31X 165 HEAT31T H & Ycdeh H HlTd! H&AT
&Y ST ST =g, drfeh aRomHT FEar f@Raw 3rgard &
g
SCCGL-23AUG-S2 : 55
(a) 10 (b) 12 (c)8

(d) 6

(42) What least number must be subtracted from 518,
so that the sum is completely divisible by 13?

518 § I8 HIeTHT wgAdH HEAT TTS STl AT, AlfR
6 TR 13 & T ¥ i gre
SCCGL-23AUG-S3 : 51
(@ 11 (b) 10 ©9

(d) 12

(43) If X and Y are the two digits of the number 347XY
such that the number is completely divisible by 80,
then what is the value of X + Y?

JfE X TAT Y Ueh HEIT 347XY F & 315 30 TR &
&1 80 A qUTT: fasITaTet 81 Srell &, @l X + Y &7 A1l
FITE?
SCCGL-05AUG-S1: 51

(6

(44) What is the quotient when 7251 is divided by 667
7251 o 66 & TaHTTSTT el IR ITCd glet aTell HISTHe
FATE?
SCCGL-06AUG-S1 : 51
(@ 110 (b) 109 (c) 111

(d)y 112

(45) What is the remainder when 6910 is divided by
81?
SIS 6910 I 81 GaRT AT faham STl &, a« 3raferse

FITEIAT &?

SCCGL-06AUG-S3 : 51

(a) 25 (b) 23 (©) 21
(d) 19

(46) If 27N4 is divisible by 11, then what is the value of
N?
Ffg 27N4, 11 & fasfara grar g, ar N &1 A1 Fa 82
SCCGL-06AUG-S3 : 72
(@2 (b)7 (@9

(d) 6

(47) How many numbers are there from 300 to 650
which are completely divisible by both 5 and 7?
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300 ¥ 650 deh VT Thaell TEATT E S5 AT 7 1A &

quer: Rrsnforer el §7

SCCGL-08AUG-S1 : 51

(a) 8 (b) 9
(d) 12

Answer Key

1 |D]2 |C|3

6 |A|7 |C|8

11|C|12|A[13

16|C|17|B[18

31|D|32|D|33

36(D(37|D|38

B
D
A
C
21(D(22|C|23|C
A
C
B
A

41|Aj42(A[43

>Oo[w[>Pm|[Aa|w[>|w

Nnirplojo/on|fw|>|on

A
C
C
D
26(B(27|C|28
D
D
A
C

46|Cl47

Solution

M

210 divided by 11
Quotient = 19
Reminder = 1
210-1 =209

2

X+ =10

= x+9=10x

= x=-10x+9=0

After solving we get
X=9,1

3)
LCM of 7,11,14=154
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1812/154 remainder=118
154-118=36

“)
Multiple each term by 113,120,145 and 160. So that

denominator of each term can be equated. Now look

up
for the largest term that is 17/160.

(5)

Perfect square and a perfect cube That means it has to
be x¢

3:=729

4:=4096

5¢=15625

(6)

37x66=2442 is the least nearest multiple of 37.
The remainder when 2468 is divided by 37 =2468-
2442=26.

)
Let fraction is x
According to question

AT

2x + Y =%

%%+ 1= w}f”ﬁ
After solving
12 - 17x + 6 =0
12%° - 8x— 8x + 6

After solving

(4x—3) (3x - 2)
x=Y="4

% is not in given option
So 3f4 is correct answer.

(8)
Let 1st no. be x,
Second no =x + 1
Thirdno =x + 2
Now, (X + x + T +x+2)p=x+ X+ 1)+ (x+ 28+
292
=Bx+3)=x+x+2X+T+x+4+4x +
292
After solving
X+ 8x—6x-48=0
X(x + 8)—6(x + 8) =0
X = 6.
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~ Largest no. = 8

(10)
5000=2 x2x2x5x5x5x5
Divide by 2= 2500 (it is a perfect square of 50)

)

LCM of 2,3 and 7 is 42
700/42=16

300/42=7

16-7=9

(12)

1 1 0 1 1
T x 21 x 240 x 241 x 231 x 23
64+32+0+8+4+2+1=111

(13)

x+7/x)=11/2
=0+ 7)/x=11/2
=2x*+ 14 = 11x
=22¢-11x+14=0
=>Kx-2)(2x=7)=0
X =2, x=7/2

(14)

Total Number between 700 and 950=250
Divisible by 3=250/3=83

Divisible by 7=250/7=35

LCM of 3,7=21

Divisible by 21=714.......945=12

Neither Divisible by 3 nor 7=250-(83+35)+12
=144

(15)
Let the fraction be f

So adding 5 we ge‘t)“:—5 = 9

So 5x + 25 = 6y

Similarly =
yy+4

We get 2x = y+4

Multiplying first equation by 6 and simultaneously solving b
the equation we get x as 7 and y as 10
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A=Z(B+0)
B+C:§A

So, A + EA: 60500
11A = 60500 x 2

A = Rs. 11000

And

B= 2(A+Q

7B
A 5

B + 25:50500

B = Rs. 18150
C = 60500 - 11000 - 18150 = Rs. 31350

(17)
1200=2 x 2 x 3 x 10 x 10
3'is required to become perfect square

(18)

First natural number = 1
Last natural number = 93
We know

first natural number+last natural number
Average =

-

&

=193, =%y, = 47

(19)

For divisibility by 11,

Sum of digits at even places minus sum of digits at
odd places should be 0 or divisible by 11
~6+4-5-M=0oramultiple of 11

If value of M is 5, then it is 0 and divisible by 11.

(22)

So,

On factorizing the given number 1287
=1287=3x3x11x13
=9x11x13

So, highest number is 13.

(23)
2116 = (46)°
Is the prefect square
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: £
(24) Let fraction=—
Let number = x >
As per question dx By
x+4/x =5 T+T=]—1
x2+4=5x '
x-5x+4=0 Ax*+By*=11xy
x=1and4
If we take x = 4then it satisfy the OPTION 2 2

= = =

So x4 dx+by--11xy=0
(25) = (4x-3)(x+2y)=0
4131/19 Remainder 8
19-8
=11 Added

(26)
Let the fraction be x (29)

wx=1/x=T12/T7 9999/93 Remainder=48

=x*-1=72x/77 Highest four-digit no. divisible by 93 is = 9999 — 48 =
=>77x2-77-72x=0 9951

=77 -72x-77=0
On solving above eqn.
x=11/7 31

Let the fraction be x

~ ATQ

(28) 2x + 3/x = 29/3

= 2x* + 3 = 29/3 x
=6x°-29%+9=0
Solving the egn. we get
X =9/2

(35)
So, 329 is completely divided by 7. So, nothing is to
be add - on.

3

8)
tA=63:24
21:8
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